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Mnemosyne was walking along a cliff near the ocean when she saw two figures flying overhead. The smaller one
seemed to be eating something, and therefore not paying attention to how high he was flying. He drew too near the sun —
melting the wax which was holding together his feathers — and he plummeted into the ocean at a steep angle.

What was the food that caused Icarus’ downfall?

Step 1: look at ocean slantwise to see
text that reads “PRIME SUN RAYS”
Step 2: read the prime sun rays, which
tell you to connect the ship’s eye to the
birds’ bodies, and read feathers

Step 3: feathers reveal the answer:
“HOT WINGS”




